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T &4 g2 A2

O x2-x-6=(x-3)(x+2)

@ ¥ -4=x+2)(x-2)

@ F-x?-2x=x(x+1)(x-2)
@ 18x3 —2x = 2x(3x—1) (3x + 1)

@ 3x2+6x+3:(3x+1) (x—|—2)
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O -1-2v2 @ -1+2v2 ® 1-2v2

@ -1-+2 ® -1+ 2
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>

@ (a+b)(a-b)=a®-b?

@ (a+b)? =a®+ 2ab + b?

® m(a+ b) = ma+ mb

@ (ax+b)(cx +d) = acx® + (ad + be)x + bd

® (a+b)(c+d)=ac+ bc+ad+ bd
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DO (x+2)2-2=4x* @ x*+1=0
® 2%+ (x-2)2=x2 @ x*-3x+1

® (x+2)(x—4) = x?



@ 3x2=1 @ 4(x+1)(x-2)=4
® x(x-1)(x+3)=4x @ (x+4)(x-2)=>5x+7

@ P -4dx+6=x3+x2>-1



9. x7F-2, -1,0, 1, 22 w, oJAPFAA] x* -~ 4x +3 =09 S|=?

O x=-2 @ x=-1 ® x=0
@ x=1 ® x=2
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@ x2-2x=0

O (x+2)2=0

@ (x-2)2=0

0

® (x-2)(x-5)

® (x-1)%2=4
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® -15



12, F oA A 2 +3x+a=0 x> -2x+b =00 BF 1S To=E
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Da=-4,b=1 @ a=-4,b=-1
®a=-3,b=1 @ a=4,b=-1

® a=-3, b=-1
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14. % olAPFAA (x-1)(r-2) = 0, x> + 14 = 0x]

D -2 @ -1 ® 0 @ 1
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® -6

A x2-3x-18 =0 9] 318 5% FotH? (

@ -3

® o0

@ 3

o
i

® 6
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0<a<52u, Va2 +1|5-al—
x o] Adighe vehdct)

D a-1
@ 2a-3

@ a+1
® 2a-1



17. 0<a<29 M, \(a-2?2+ /(2-a)? & 24eFs] oh?

D -2a+4 @ 2a+4 ® —2a-4
@ 2a-4 ® -2a



18. THe % V3 T V7 Aolo] Qi Fali?

®© V3+2
@ 4

@ 242
® V7-3




19. o2 F V2 & V5 Atole] 427} obd A127

@ \/542“/5 @ V3 ® V2-0.1

@ +5-0.01 ® 2
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® V10

@ 2-43
® 5+ V10

D V3-1

@ V10-1
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Fohw?

D 4+ 5 @ 4-+5 ® 6- 5
@ 6+ V5 ® 8+ V5



